A raft is constructed of wood having a density of 460.0 %,. The surface area of the bottom of

the raft is 5.9m?, and the volume of the raft is 0.56m3. When the raft is placed in fresh water
having density 1.0 - 103 %, how deep is the bottom of the raft below water level?
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Newton's second law in vector form:

A raft is at rest, then:
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0 = B + mg.
ProjectiononY:
0 =B —mg;
B =mg.
B —a buoyancy force.

m - a mass of a raft.



pr — the density of a raft.
V. — a volume of a raft.
B =pyVg;
pw — the density of a water;
V — a part of volume of a raft below water level.
V = Sh;
h - a high of the bottom of the raft below water level.
pwVg =mg;
oV =m;
pwSh = piVy;
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_ 460.0-0.56
~1.0-103-5.9

= 0.044(m).

Answer: h = 0.044m.



